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int mysteryl( int n ) {
int r = Q, divisor = 1000, multiplier = 1;
while (n > 10 ) {
if ( n >= divisor )} {
r += n / divisor * multiplier;
n %= divisor;
divisor /= 10;
multiplier *= 10;
} else divisor /= 10;
}
r += n * multiplier;

return r;

2. FM A £ 2Bt ? Rk bt A& 7 (10%)
#include <stdio.h>
void f(const int b{], int s){
if(s>0) {
f(sb[l},s-1);
printf(“sd “, b[0]);

}
void main () {
int a[l0}={0,1,2,3,4,5,6,7,8,9}:
f(a,10);
}
3. F A4 R 0 ik M SR04k LRBE Ley st ez - (20% 0 BAR S5 %)
(1. Pl 1 554 '
x = 1;
while (x<5);
printf(™%d ”, x+tt+);
2). Ep4¢ 100 21 ah44
For (x=100, x>=1, x++)

printf (“%d\n”, x);
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Q). B A BB BT AT R R
switch (value$%2) {
case 0:
printf (“Even integer\n”);
case 1: ‘
printf (*0dd integer\n”);:
}
(4). BEMRIINAAEER ] REHLEpd -
int b(10]= {0}, i;
int *p=b;
for (i=0; i<=10, if+)[
*(bti) = 1;
printf(“%d *, pli});
}
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struct customer
char name[30];
int customerNumber;
struct {
char phoneNumber([11};
char address{50};
}
}
struct customer Cust{100];
struct customer *p = Cust;

int Num; // Number of customers stored in Cust[100]
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5. #E WA - % — R X » void Lotto(int Num([6])) » ALK A 4 TR &~
EHF(1~42) BN Num 7 ¥ - B — 22K main #R2 0 MHEOBAR
HEd main RER - W HFLRB DI RBEA - (20%)

BREmhoT:

Create six lotto numbers {Y/N): Y
Creating ..

Six numbers are 3, 21, 25, 34, 38, 41.

Create six lotto numbers (Y/N): N
Bye!
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